*HittlsE ZAHANEBEFEMFER (4A~98) SHSEE
48 58 68 78 88 of

12l = 1|8 THES 1 | g 1 |w] varreE |1 |2

2|8 wlmosTre 2 [ 2|8 2 [k g 2 | £ Bl

3|8 x 3lE| @ S 3 | % 3|8

4 |w|vosTreE (4 )& 4|8 4wl vBTrE |4 |2 4|8

5(x| e 5|8 5 |k Bl 5|+ g 5 |w| UBTHE

6 | & + g 6 |w|uvarreE |6 |x 6|8 6 |x g

7 e B 7|x| @ 7|e 7|8 7 | &

8 |£ g B 8 | K 8 |& g 8 |w| s lﬁﬂ 8 |&

9|8 wla [=]]o|= 9|8 o|x| ma|m2]|o[E] =

10|8 1olx| [ £liolE] = |io|e 10| % 10(B

11| | 4 @117& 11|18 11| W *Hmﬁ 1|8

12|k | za[Ed 12|« 12| A8 2]k me[x]|i2lE] =3 [i2{w] &[]

13| & EEEE BRI EEE 13|18 13|k | [ L]

14|& 148 14|x | 7 [m] |14| = 14| 8 14| %

15| 3 |is5|8 15| & 15[+ Bl 15\w| sp7rE |15|2

16(8 16|w| &P+ |16 2 16(8 16| g 16+ g

17] 8 17lx]| m |7|E] 3 [7)s 17| A 1718

18| w| ep7ram [18]% 18]B 18|w| ap7rs |18le (ie)5

19(x| 3 |ole 19|8 19| Bl 19+ Bl 19w | &PT g

20| & 2ol£| 3 |20|w| #P7r#E |20| % 20| 8 20| Bl

21|& 218 21|x| 3 |o1|e 21| 8 21| &

o2|l2| 3 |o2|m 22| & 22|+ g |2z2|w 22| &

238 23| W 23| & 238 23| K g (230 & g

24| 8 24|x| 3 |eal®| T |24(m 24| & 248

25| w 25| & 258 25| w 25| & 25| 8

o6|x| T |o8|2 26| 8 26|k g |o6|x g |26|w

27| & o7l2| 3 |or|w 27| & 278 27| x Bl

28| & 288 og|x| T |o8|= 28| 8 28| &

SDHEEEREE 20| ol 3 |oo|w ool&

30|8 30| w 30|& 30|8 30| % g |solt Bl

3|x| @ 31|18 31| &
G- TAPUCH h-BBRL T TSEE O--HEVh - ERSE o208

PRy RRIL 22y o=k

XIREH(G, BABMOLREETICHVAATHDIIKSLOAL VS —|ICEEBELTNET,
CHIIFEEBLEBDHSEHFETICH LTI EE).

OB (RENRBEED)



#Hitlsy ZAHANEKBFEMFER (108~3A) SHMSEE
108 118 128 18 28 38

1|8 1 [ g 1 |& k&ﬁa 1 | & 1|2

2 |8 RS o] 3 [2|w > & 2lx] =

3 [w[vsTras)a E 3 | slE] = |s]e

alx] =3 |alg] 3 |4]m 4|kl = 4|8 4|8

5 |k 5 |8 5 |wluvsTrg]s |2 5|8 5 |w| vBT

6|e 6|8 6lx| 3 |elt] = 6 |w|uvsTrE]e x| =

712l 3 |7 |w|uvsvrs]7 & 78 7lx| 3 7%

s |8 slx| 3 J|sl& OF 8 | & S

(o)= 9 & ole] 3 |ol|w|vsrrm]o]e olx] o

1olw|m [mi]|io|e 10|8 1olx] @ o] = |io]B

11| % @ﬂh%ﬂ11.t g 118 11| & 11]8 1|8

12| & 1218 12\u|m [mi]]i2] (12) 5 12w m []]

13| & 13| 8 13|k | ma[m[13|E] m  [1s|w|e [m|is]|x| = £

1afg] 3 fiafu] m [S]]ra]x 148 14| x|z [ |14 %

158 15|x| [ ]lis|= 15| 8 15| & 15| &

16| 8 16| A& 16| 3 |1e|w| m |[=]|e|= 6|2 T

17|werors 172 17]8 17k ae[x]l7[E] 3 [i7]e

18|x| = |islg] =z |8lm 18| & 18] 8 18| 8

19| A 10]8 19|w| #p7ra |1o]e 198 19| W | 2P7

20| 2 0|8 20(x| @ |eoff| @ [e0[w]2rrram [2o)K

21l2| 3 |21|w|erTrs |21]% 21|8 o1|x| =3 |21|x| @

2olg 22(x| 3 |22|2 22( 8 22| % 22| %

23| 8 D 23[f] o |es|u] erore (232 X

24| w 24| % 24|8 oalx| 3 |ealx| =T |o4lB

5% a3 |esfx| 3 |2s|e 25| A o518 25( 8

26| & 26| 8 26| W 26| % 26| 8 26| W

27|% 27|18 o7|x| =3 |erlx| 3 |er|w o7k @

28l£| a3 |os|w 28| A 28| 8 og|x| 3 |os|x

2olg 20(x| 3 |eole| a3 |2o|e 29| & 29| %

30|58 30| & 30|+ 30| w o] @

31| w 31|8 31|x| @ 31]8

G- ARCH ~-BBRLT T TSBB U HIVA - EREE &8

PRy FRIL 22y DP—k

XINEB(E, BREBMODLBEETICHTIDAATHI<KSLOALYS—IICERELTNET,
CHIFEEESEDHBEFXTICHLTIZE,

%8 RERBEED)



